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L5 5o g 20000 YR AFE st Futh T 23559
Holgi} o]ztof gt AlFo] o3t 5 Uk o] 23 AFS
st Aol o {3ty 712

A2 | B2
dol& 5.5% 6 %
ojztell gt AlF& | 15% | 25%

(1) ZF 23] 20000 Y= YFotAS o Uhe+= o2& oA

55
A % - (20000 H°] 5.5% )— 20000 x - = 1100 ()

6
B 23 — (20000 92] 6% )— 20000 x — = 1200 (<)

100
(2) ZF 238l 20000 9= Faot= e Ala= FEH
(1100 ofl thgt Al&)= 1100 x % =165 (¢¥)

(1200 ol T2 A1 F)= 1200 x 2o = 300 (8))

AE o] = 1100 - 165 = 935 ()
( noﬂ/q _g—ér A= o]ZH) = 1200 - 300 = 900 ()
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(1) 7+ 238l 10000 ¥-2 YFoHAS o Y 2+= o] AE oW
P& 24— (10000 L] 9% )

9 =
= = —900 (Y
10000 x 100 (#)

g 23 — (10000 Y2 10 %)

10 o
=1000 (&
— 10000 X — 100 ( )

(2) ZF 2340f 10000 Y= YFoA-S o] A2 Fo|EH
. 20 o
(900 el izt Ml=)= 900><1—00 180 (9)
30 o
=300 (¢
= 1000 x 7o (f)
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FEZ AF © (160 - 100) x 0.9 = 60x 0.9 = 54
H|9E 45 : 54kg 9] 120 %olAF

120
— 54(kg) X755 = 648 (ke) ol




